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1.y = 1 sin(zx) + C(x € (2013,2014])
2.36

13

12 12
4.y=115x—03
5.2 —4m4+ 2

6.@%(% ﬁ)
2’ 2
7.6
8.3

9. [BX=RrgEHiR]

S(6) = arccos /2 sin(7 — ) — \/isin(% — 0)4/sin26
S (6) = Smbteos "*“:_S\/m_zja‘sm 6=cos®) + +/sin26(cos @ + sin )
EE: HFE

10. B FAAERERIEE, BRE LIE—= P %2 PF, + PF, = 2a, FILAEAS#ERMK
BT RRYEES.
—MEER LA EERNREGT R, SEEIE F1 P 5 PFy BMASHCEAIHE L, 19k
HRETE (%) EfEEITIZ.
HATFHEINE LS Q BE F10 + F,Q > 2a, FRLAMSARATgER DRGSR ETARkAYRET
H (%) ~EWERZ%, WEER Q HE F10+ F,0 < 2a, F&E.

1. E(Fy) = 4

c 01 2 3 4 5

P(Fi=c) 0 0 0 0 1 0

E(F)=3.2

c 01 2 3 4 5

P(F))=c 0 0 0 064 032 0.0400

lim E(F,)=2.5

n—>+oo

c 01 2 3 4 5

lim P(F,=c¢) 0 0 05 05 0 0

n—+o0o0
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KiE:
18 fpe = P(F, =), HENX fro=fus =0, lE=)

(c+1)? (n—(c—1))? 2c(n—c)
fn,c = 025 fn,c+1 + %fn,c—l + 055 = fn,c(l <cX< 5)




